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HS FK M5 BE#CED) FER FAEH(CE2) B R E5ES
31427 |30f% 7 BRIREFTEN HY (BETEEW) 58128 HY (B - REMERL24) N3]
31428 |40f% S BRREREN HY (BETIEAWL) 5814H HY Eyan=|
31429 |10mskim &4 KT HY (BETIEARW) 58130 ) AL
31430 |10k &4 BRREMEN HY (BETIEARL) 5814R - AL
31431 |10mkE |BHE EIR™ HY (BETEEW) 58148 - 3L
31432 |40f% S Ry HY (BETIEAWL) 5813H HY BEx
31433 [404% eq i ERT HY (BETIEARW) 5811H - E=van=|
31434 |10f% ik IR HY (BETIEAL) 5A14H HY) L
31435 |60f% pegs BRIREFTEN HY (BETEEW) 58148 HY) Eyad=|
31436  |40f% S BRRETEN HY (BETIEAEW) 5813H HY (EinEMmEEK3T) E=yan—|
31437 |40f% 7t BRIREFTEN HY (BETEEW) 58148 HY (EEnEMER3T) SifzNiEg=]
31438 |40f% 7 BRREERN HY (BETIEAEW) 5813H - =B
31439 |304% eq i KT HY (BETIEARW) 58141 ) AL
31440 |10mK (B R HY (BETIEAL) 5A14H HY) 5L
31441 |10f% 7 BRIREFTEN HY (BETEEW) 5A11H HY 5L
31442  |50% 7k BRREMEN HY (BETIEAWL) 5812H - RNBE
31443 |104% eq i B5H HY (BEETIEARW) 58141 ) AL
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31444 4048 eq i SRR AT HY (BETIEARW) 58130 Y ilzy3=}
31445 |107EKH |B1E B \EFEH) HY (BETIEAWL) 5A148 HY (B - REMEK128) 3L
31446  |10mkiE &4 ERT HY (BETIEARW) 58130 - L
31447 |90 L | B =BT HY (BETIEAL) 5128 HY) L
31448 [80f% S REBRIEFTEN HY (BETEEW) 58128 HY 3L
31449  [30% i =l ? HY (BETIEAWL) 5814H HY Eyan=|
31450 [10f% pegs HREBRIEFTEN HY (BETEEW) 5A11H HY 5L
31451 |60f% S HREMREEFTE W HY (BETIEAL) 5812H - E=yan=|
31452 |204% geqd ks HY (BETIEARW) 5812RH - E=van=|
31453 |10#% Bk 5[ l=ns) HY (BETIEARL) 5812A - AL
31454 |504% Bk bt HY (BETIEARW) 5812H - E=van=|
31455 [10f% i HEMREEFTEW HY (BETIEAEW) 511H HY (F#’K139) %L
31456  [10f% 7 HREBRIEFTEN HY (BETEEW) 58148 - 5L
31457 |70f% g =7 HY (BETIEAWL) 5108 HY) L
31458 |104% geqd ks HY (BETIEARW) 5812RH HY L
31459 |10#% B fesm HY (BETIEARL) 5812A HY AL
31460 |504% geqd ks HY (BETIEARW) 58130 Y E=van=|
31461 |10mkis | B =l ? HY (BETIEAWL) 5128 - L
31462 |104% geqd =T HY (BETIEARL) 581301 HY (F#%139) #L
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31463 |10mRH &t F(E= i HY (BETIEARW) 58141 HY AL
31464 |10mKM |ZE HEMREEFTEW HY (BETIEAWL) 5A13H HY %L
31465 |10k &t AR R AT B HY (BETIEARW) 5813H HY L
31466  |304% Bk 5[ l=ns) HY (BETIEARL) 58118 HY HEZ¥
31467 |704% eq i F(E= i HY (BETIEARW) 5812RH HY L
31468 |50% poq i AR AT E HY (BETIEARL) 58108 HY ey
31469 |40f% Bk ft&m HY (BETIEARL) 5811H - E=van=|
31470 |301% S =l ? HY (BETIEAL) 5811H HY BEx
31471 [301% B ktm HY (BFETIEAEL) 5813H - N 3=
31472 |701% 7k L&™ HY (BETIEAL) 5810H HY BEx
31473 |604% eq i F( =i HY (BETIEARW) 58130 HY AL
31474 [301% Egs =l HY (BETIEAL) 5814H HY Sz =]
31475 |10mRiE |2t &M HY (BFETIEAEL) 5A13H HY 7% L
31476 |301% 7k HEMREEFTEW HY (BETIEAWL) 5812H HY Eyan=|
31477 |204% eq i F(E= i HY (BETIEARW) 5812RH Y E=van=|
31478 |20f% 7k L&™ HY (BETIEAWL) 5812H HY Eyan=|
31479 |604% eq i AR R AT B HY (BETIEARW) 5812A - ELN S
31480 |20% poq i fesm HY (BETIEARL) 58108 HY EilzN3=]
31481 |104% eq i F( =i HY (BETIEARL) 5812RH - L
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31482 |304% eq i F(E= i HY (BETIEARW) 5812RH - L
31483 |10#% B AR AT E HY (BETIEARL) 58128 HY (F#K139) L
31484 |304% geqd EIF HY (BETIEARW) 5812RH - E=van=|
31485 |10k |BH EEH HY (BETIEARL) 5814RH HY AL
31486 |104% Bk EIF HY (BETIEARW) 5812RH HY (F#%139) #L
31487 |10f% S HPEMREEFTEW HY (BETIEAWL) 5813H HY (F1139) 3L
31488 |204% Bk EIF HY (BETIEARL) 58130 - E=van=|
31489 |50% B fesm HY (BETIEARL) 58138 - £Ht8
31490 |504% Bk ft&m SRR 58141 Y E=vad=|
31491 |501% 7k HREMREEFTE W HY (BETIEAL) 5128 HY A
31492 |204% Bk ftEm HY (BETIEARW) 5811H - E=van=|
31493 |10%% Bk =B HY (BETIEARL) 5813AH - AL
31494 10K &t ks HY (BETIEARL) 58130 - L
31495 |204% Bk 5[ l=ns) HY (BETIEARL) 58138 HY SilzN3=]
31496 |204% Bk AR R AT E HY (BETIEARW) 5812A Y EIN S
31497 |201% i =l ? HY (BETIEAWL) 589H - TILSA b
31498 |104% Bk AR R AT B HY (BETIEARW) 5813H HY (F#139) #L
31499  |40%% B fesm HY (BETIEARL) 58138 - £Ht8
31500 |104% eq i F( =i HY (BETIEARL) 5812RH - L
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31501 |104% Bk AR R AT B HY (BETIEARW) 5813H HY L
31502  |40%% poq i AR AT E HY (BETIEARL) 5B9H - BE¥
31503 |304% eq i F(E= i HY (BETIEARW) 58108 - E=van=|
31504 |10k &4 fesm HY (BETIEARL) 5813AH Y AL
31505 |104% Bk ft&m HY (BETIEARW) 58130 - L
31506  |40f% B AR AT E HY (BETIEARL) 58138 HY ey
31507 |304% eq i AR R AT B HY (BETIEARL) 5812A - ELN S
31508 |504% B fesm HY (BETIEARL) 58148 - £Ht8
31509 |10mkim |B BNRERTE X HY (BETIEARW) 5814H - L
31510 |10¢% B B HY (BETIEARL) 5813AH Y AL
31511 [40% eq i B HY (BETIEARW) 58141 HY (BB - REMER128) SileS:a=]
31512 |20f% 7k BN HY (BETIEAL) 5814H HY BEx
31513 |10mkim |B BNRERTE X HY (BETIEARL) 5813H HY L
31514 |10k (B BN HY (BETIEAWL) 5H13H HY) L
31515 |304% eq i ENREEFTE X HY (BETIEARW) 5814H Y SHE
31516 |304% poq i BNNREEFTE N HY (BETIEARL) 58148 HY EilzN:ds]
31517 |104% Bk —BmH HY (BETIEARW) 58141 - L
31518 |50% poq i —BH HY (BETIEARL) 5811AH Y NR— k& A<—
31519 |304% Bk —BmH HY (BETIEARL) 581301 Y E=vad=|
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31520 |10mkiE |BE —B8h HY (BETEEW) 58148 HY 7L
31521  |40f% S —BEh HY (BETIEAWL) 5813H - BEx
31522 |40% eq i —BH HY (BETIEARW) 5812RH - L
31523 |204% g3 —Bh HY (BETIEARL) 5814RH - Eevan=|
31524 |10m ks |BMHE —B8h HY (BETEEW) 58148 - 5L
31525 |204% g3 — B REFTE N HY (BETIEARL) 5814AH - EilzNa=t
31526 |10mskim &4 BERT = HE T HY (BETIEARL) 5813H &) L
31527 |10k (& ERREFIEA HY (BETIEAL) 5814H HY (FR137) L
31528 [20f% St ERREMEAN HY (BETEEW) 58148 - E=gan=|
31529 |10#% Bk ZRREFREN HY (BETIEARL) 5814R HY (F#K137) AL
31530 |10mEskim &4 ZRREFREN HY (BETIEARW) 5815 HY (F#K137) #L
31531 |10#% Bk ZRREFREN HY (BETIEARL) 5814R HY (F#K137) il
31532 |304% eq i ZRREFREN HY (BETIEARL) 5815 HY (F#K137) NS
31533 |10k &4 ZRREFREN HY (BETIEARL) 5814AH HY (F#K137) AL
31534 [30f% pegs ERREMEN HY (BETEEW) 5A13H - SifzNiEg=]
31535  [304% S ERREFEN HY (BETIEAWL) 5A15H HY (F®137) Eya=]
31536 |104% geqd ZRREFREN HY (BETIEARW) 5815 HY (F#K137) #L
31537 [501% 7 ARGREFEN HRER 5810H - N3]
31538 [|804% geqd AV ) HY (BETIEARL) 58141 »Y (BEEREX35) AL




/1=

=l FK M5 BE#CED) FER FAEH(CE2) B R EES

31539  [604% S B (ARREERN) HY (BETIEAWL) 5A13H HY (SEEER35) NP
31540 [90m MU LE B ARGREFEN HY (FBETIEAEW) 5813H HY (EinEMEE%35) %L
31541 |90 £ |Zi%E ARREFTEA HY (BETEEW) 5A13H HY (SEnEMEEZ35) %L
31542 |90mM L |BE B (ARRREFIEN) HY (BETIEAEW) 5813H HY (EinEMEE%35) %L
31543 |804% geqd AZETH Y (BETIEARW) 58130 »Y (BEERER35) AL
31544 |601% 7 ARGREFEN HY (BETIEAEW) 5814H HY (EknEMEE%35) SifzN:=q=]
31545  [30f% St ARREFTEA HY (BETEEW) 58148 HY) Eyad=|
31546 |10k &4 —Fm® HY (BEETIEAW) 5814R - AL
31547 |10mskiE &4 —FmW Y (BETIEAR) 58141 HY (F#138) Bl
31548 [104% S B4 (ZFM) HY (BETIEAWL) 5A14H HY 3L
31549 |604% geqd —FmW Y (BETIEARW) 58141 Y HE¥
31550 |30% B4 —Fh HY (BETIEARL) 5814R HY (FH138) N 3=
31551 |801% ik —Fh HY (BETEEW) 5814H HY L
31552  |40f% g —Fm® HY (BEETIEAW) 5814R ) Eevan=|
31553  |10mRiE |2t —Fm HY (BETIEAEWL) 5H13H - %L
31554  |40f% i —Fh HY (BETIEARL) 5814R ) N 3=
31555 |301% ik —Fh HY (BETEEW) 5815H HY L
31556  |10mEskim |24 —Fm® HY (BEETIEAW) 5814R - AL
31557 |10m ks | B - HY (BFETIEAEWL) 58148 - %L




